Bid Schedule A

Project No.: PRA GUIS 12(1) (SCHEDULE A)

Project Name: GULF ISLANDS NATIONAL SEASHORE - SITES 1 AND 2

State:FLOpened at:Sterling, VACounty:ESCAMBIABy:Jason Albright

GULF ISLANDS NATIONAL SEASHORE Date: 08/18/2010

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Jason Albright

Title: Program Assistant Date: 08/19/2010

Contract Awarded to: Panhandle Grading & Paving, Inc. Date: 9/16/10

Contractor	Bid Amount	Responsive
Panhandle Grading & Paving, Inc.	851,965.95	
2665 Solo Dos Familiaf		
Pensacola, FL 32534		
APAC Mid-South, Inc.	866,647.50	
4375 McCoy Drive		
Pensacola, FL 32503		
A&E General Contractors	1,138,095.00	
1415 Moody Street		
Jacksonville, FL 32206		
Engineer's Estimate	1,110,000.00	

Date: 08/23/20

TABULATION OF BIDS

Bid Schedule A

Project No.: PRA GUIS 12(1) (SCHEDULE A)

Project Name: GULF ISLANDS NATIONAL SEASHORE - SITES 1 AND 2

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			_
Pan	handle Grading & Pa	ving, Inc.	ALL	77,451.45	77,451.45
	AC Mid-South, Inc.			40,100.00	40,100.00
A&	E General Contractor	s		50,000.00	50,000.00
ENG	GINEER'S ESTIMAT	TE		100,721.00	100,721.00
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
Pan	handle Grading & Pa	ving, Inc.	ALL	9,000.00	9,000.00
APA	AC Mid-South, Inc.			7,900.00	7,900.00
A&	E General Contractor	S		10,000.00	10,000.00
ENG	GINEER'S ESTIMAT	TE		28,564.50	28,564.50
15401-0000	LPSM	CONTRACTOR TESTI	NG		
Pan	handle Grading & Pa	ving, Inc.	ALL	23,000.00	23,000.00
APA	AC Mid-South, Inc.			14,560.00	14,560.00
A&	E General Contractor	S		10,000.00	10,000.00
ENG	GINEER'S ESTIMAT	TE		28,564.50	28,564.50
20301-3400	EACH	REMOVAL OF WHEEL	LSTOP		
Pan	handle Grading & Pa	ving, Inc.	50	22.00	1,100.00
APA	AC Mid-South, Inc.			20.15	1,007.50
A&	E General Contractor	S		26.00	1,300.00
ENG	GINEER'S ESTIMAT	TE		60.00	3,000.00
20303-1600	SQYD	REMOVAL OF PAVEN	MENT, ASPHALT		
Pan	handle Grading & Pa	ving, Inc.	280	8.70	2,436.00
APA	AC Mid-South, Inc.			8.50	2,380.00
A&	E General Contractor	S		6.00	1,680.00
ENG	GINEER'S ESTIMAT	TE		15.00	4,200.00
20401-0000	CUYD	ROADWAY EXCAVA	ΓΙΟΝ		
Pan	handle Grading & Pa	ving, Inc.	120	7.80	936.00
APA	AC Mid-South, Inc.			21.50	2,580.00
A&	E General Contractor	s		15.00	1,800.00
ENG	GINEER'S ESTIMAT	TE		35.00	4,200.00
20701-1100	SQYD	EARTHWORK GEOTE	XTILE, TYPE III-B		
Pan	handle Grading & Pa	ving, Inc.	280	5.25	1,470.00
APA	AC Mid-South, Inc.			4.00	1,120.00
A&	E General Contractor	s		6.00	1,680.00
ENG	GINEER'S ESTIMAT	TE		6.00	1,680.00

Date: 08/23/20

TABULATION OF BIDS

Bid Schedule A

Project No.: PRA GUIS 12(1) (SCHEDULE A)

Project Name: GULF ISLANDS NATIONAL SEASHORE - SITES 1 AND 2

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
30101-400	0 TON	AGGREGATE BASE C	GRADING C OR D		
P	anhandle Grading & Pavin	g, Inc.	90	85.00	7,650.00
A	PAC Mid-South, Inc.			58.00	5,220.00
A	&E General Contractors			25.00	2,250.00
E	NGINEER'S ESTIMATE			40.00	3,600.00
30302-200	0 LNFT	SHOULDER RECOND	ITIONING		
P	anhandle Grading & Pavin	g, Inc.	210	11.00	2,310.00
A	PAC Mid-South, Inc.			5.00	1,050.00
	&E General Contractors			10.00	2,100.00
Е	NGINEER'S ESTIMATE			6.00	1,260.00
40101-010	0 TON		ENT, 3/8-INCH NOMIN ILLION ESAL (TYPE V		
P	anhandle Grading & Pavin		6,400.0	84.50	540,800.00
	PAC Mid-South, Inc.	<i>5</i> ⁷	,	89.00	569,600.00
A	&E General Contractors			110.00	704,000.00
E	NGINEER'S ESTIMATE			90.00	576,000.00
40101-090	0 TON	SUPERPAVE PAVEM AGGREGATE, <0.3 M	ENT, 3/4-INCH NOMIN ILLION ESAL	AL MAXIMUM SIZE	
P	anhandle Grading & Pavin	g, Inc.	110	138.75	15,262.50
A	PAC Mid-South, Inc.			104.00	11,440.00
A	&E General Contractors			110.00	12,100.00
Е	NGINEER'S ESTIMATE			90.00	9,900.00
41301-000	0 SQYD	ASPHALT PAVEMEN	T MILLING		
P	anhandle Grading & Pavin	g, Inc.	18,600	2.65	49,290.00
A	PAC Mid-South, Inc.			2.40	44,640.00
A	&E General Contractors			5.00	93,000.00
E	NGINEER'S ESTIMATE			10.00	186,000.00
60915-300	0 EACH	WHEELSTOP, RECYC	CLED PLASTIC		
P	anhandle Grading & Pavin	g, Inc.	50	58.00	2,900.00
	PAC Mid-South, Inc.			111.00	5,550.00
	&E General Contractors			150.00	7,500.00
E	NGINEER'S ESTIMATE			100.00	5,000.00
60920-000	0 EACH	RESET WHEELSTOP			
P	anhandle Grading & Pavin	g, Inc.	310	35.00	10,850.00
A	PAC Mid-South, Inc.			43.35	13,438.50
A	&E General Contractors			310.00	96,100.00
Е	NGINEER'S ESTIMATE			50.00	15,500.00

Date: 08/23/20

TABULATION OF BIDS

Bid Schedule A

Project No.: PRA GUIS 12(1) (SCHEDULE A)

Project Name: GULF ISLANDS NATIONAL SEASHORE - SITES 1 AND 2

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63401-1500	LNFT	PAVEMENT MARKI	NGS, TYPE H, SOLID		
Panha	ndle Grading & Pavi	ng, Inc.	89,000	0.80	71,200.00
APAC	Mid-South, Inc.			1.22	108,580.00
A&E	General Contractors			1.00	89,000.00
ENGI	NEER'S ESTIMATE	3		0.75	66,750.00
63502-1300	EACH	TEMPORARY TRAF	FIC CONTROL, DRUM		
Panha	ndle Grading & Pavi	ng, Inc.	50	90.00	4,500.00
APAC	Mid-South, Inc.			86.00	4,300.00
A&E	General Contractors			75.50	3,775.00
ENGI	NEER'S ESTIMATE	E		75.00	3,750.00
63503-0300	LNFT	TEMPORARY TRAF	FIC CONTROL, BARRIC	CADE TYPE 3	
Panha	ndle Grading & Pavi	ng, Inc.	50	15.00	750.00
APAC	Mid-South, Inc.			14.50	725.00
A&E	General Contractors			150.00	7,500.00
ENGI	NEER'S ESTIMATE	E		85.00	4,250.00
63504-1000	SQFT	TEMPORARY TRAF	FIC CONTROL, CONSTE	RUCTION SIGN	
Panha	ndle Grading & Pavi	ng, Inc.	150	10.00	1,500.00
APAC	Mid-South, Inc.			10.71	1,606.50
A&E	General Contractors			5.00	750.00
ENGI	NEER'S ESTIMATE	3		30.00	4,500.00
63506-0500	HOUR	TEMPORARY TRAF	FIC CONTROL, FLAGGI	ER	
Panha	ndle Grading & Pavi	ng, Inc.	800	20.70	16,560.00
APAC	Mid-South, Inc.			20.70	16,560.00
A&E	General Contractors			20.70	16,560.00
ENGI	NEER'S ESTIMATE	3		20.70	16,560.00
63507-0800	DAY	TEMPORARY TRAF	FIC CONTROL, PORTA	BLE CHANGEABLE N	MESSAGE
Panha	ndle Grading & Pavi	ng, Inc.	120	25.00	3,000.00
	Mid-South, Inc.	-		22.00	2,640.00
A&E	General Contractors			125.00	15,000.00
ENGI	NEER'S ESTIMATE	3		250.00	30,000.00
63701-0000	EACH	FIELD OFFICE			
Panha	ndle Grading & Pavi	ng, Inc.	1	10,000.00	10,000.00
	Mid-South, Inc.			11,650.00	11,650.00
A&E	General Contractors			12,000.00	12,000.00
ENGI	NEER'S ESTIMATE	3		16,000.00	16,000.00

Bid Schedule A

Project No.: PRA GUIS 12(1) (SCHEDULE A)

Project Name: GULF ISLANDS NATIONAL SEASHORE - SITES 1 AND 2

BID ITEM CHECK PASS

Date: 08/23/20

No extension errors in this Schedule.

Bid Schedule A

Project No.: PRA GUIS 12(1) (SCHEDULE A)

Project Name: GULF ISLANDS NATIONAL SEASHORE - SITES 1 AND 2

BID TOTAL CHECK PASS

Date: 08/23/20

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Panhandle Grading & Paving, Inc.	851,965.95	851,965.95	
APAC Mid-South, Inc.	866,647.50	866,647.50	
A&E General Contractors	1,138,095.00	1,138,095.00	

The apparent low bidder is 23 % below the engineer's estimate.

Bid Schedule B

Project No.: PRA GUIS 12(1) (SCHEDULE B)

Project Name: GULF ISLANDS NATIONAL SEASHORE - SITE 3

State: FL Opened at: Sterling, VA
County: ESCAMBIA By: Jason Albright
GULF ISLANDS NATIONAL SEASHORE Date: 08/18/2010

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Jason Albright

Title: Program Assistant Date: __08/19/2010

Contract Awarded to: Panhandle Grading & Paving, Inc. Date: 9/16/10

Contractor	Bid Amount	Responsive
Panhandle Grading & Paving, Inc. 2665 Solo Dos Familiaf Pensacola, FL 32534	269,973.00	
APAC Mid-South, Inc. 4375 McCoy Drive Pensacola, FL 32503	320,602.95	
A&E General Contractors 1415 Moody Street Jacksonville, FL 32206	363,988.00	
Engineer's Estimate	300,000.00	

Date: 08/23/20

TABULATION OF BIDS

Bid Schedule B

Project No.: PRA GUIS 12(1) (SCHEDULE B)

Project Name: GULF ISLANDS NATIONAL SEASHORE - SITE 3

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
Panha	ndle Grading & P	aving, Inc.	ALL	24,543.00	24,543.00
	Mid-South, Inc.	0		18,500.00	18,500.00
A&E	General Contracto	ors		30,000.00	30,000.00
ENGI	NEER'S ESTIMA	TE		33,526.60	33,526.60
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
Panha	ndle Grading & P	aving, Inc.	ALL	8,000.00	8,000.00
APAC	Mid-South, Inc.	0		2,000.00	2,000.00
A&E	General Contracto	ors		5,000.00	5,000.00
ENGI	NEER'S ESTIMA	TE		7,541.70	7,541.70
15401-0000	LPSM	CONTRACTOR TESTI	NG		
Panha	ndle Grading & P	aving, Inc.	ALL	8,000.00	8,000.00
APAC	Mid-South, Inc.			12,440.00	12,440.00
A&E	General Contracto	ors		5,000.00	5,000.00
ENGI	NEER'S ESTIMA	TE		7,541.70	7,541.70
20301-3400	EACH	REMOVAL OF WHEE	LSTOP		
Panha	ndle Grading & P	aving, Inc.	3	22.00	66.00
APAC	Mid-South, Inc.			20.15	60.45
A&E	General Contracto	ors		26.00	78.00
ENGI	NEER'S ESTIMA	TE		60.00	180.00
40101-0100	TON	SUPERPAVE PAVEMI AGGREGATE, <0.3 MI			
Panha	ndle Grading & P	aving, Inc.	2,400.0	84.50	202,800.00
	Mid-South, Inc.	0		110.00	264,000.00
A&E	General Contracto	ors		120.00	288,000.00
ENGI	NEER'S ESTIMA	TE		90.00	216,000.00
60915-3000	EACH	WHEELSTOP, RECYC	LED PLASTIC		
Panha	ndle Grading & P	aving, Inc.	3	58.00	174.00
APAC	Mid-South, Inc.			111.00	333.00
A&E	General Contracto	ors		150.00	450.00
ENGI	NEER'S ESTIMA	TE		100.00	300.00
60920-0000	EACH	RESET WHEELSTOP			
Panha	ndle Grading & P	aving, Inc.	220	35.00	7,700.00
	Mid-South, Inc.			43.35	9,537.00
APAC	Wild-South, Inc.				
	General Contracto	ors		10.00	2,200.00

TABULATION OF BIDS

Date: 08/23/20

Bid Schedule B

Project No.: PRA GUIS 12(1) (SCHEDULE B)

Project Name: GULF ISLANDS NATIONAL SEASHORE - SITE 3

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63401-1500	LNFT	PAVEMENT MARKI	NGS, TYPE H, SOLID		
Panha	andle Grading & Pavir	ng, Inc.	600	0.80	480.00
APA	C Mid-South, Inc.			1.00	600.00
A&E	General Contractors			1.00	600.00
ENG	INEER'S ESTIMATE			0.75	450.00
63503-0300	LNFT	TEMPORARY TRAF	FIC CONTROL, BARRI	CADE TYPE 3	
Panha	andle Grading & Pavir	ng, Inc.	50	15.00	750.00
APAG	C Mid-South, Inc.			14.50	725.00
A&E	General Contractors			250.00	12,500.00
ENG	INEER'S ESTIMATE			85.00	4,250.00
63504-1000	SQFT	TEMPORARY TRAF	FIC CONTROL, CONST	TRUCTION SIGN	
Panha	andle Grading & Pavir	ng, Inc.	50	10.00	500.00
APA	C Mid-South, Inc.			10.75	537.50
A&E	General Contractors			4.00	200.00
ENG	INEER'S ESTIMATE			30.00	1,500.00
63506-0500	HOUR	TEMPORARY TRAF	FIC CONTROL, FLAGO	SER	
Panha	andle Grading & Pavir	ng, Inc.	300	20.70	6,210.00
APA	C Mid-South, Inc.			20.70	6,210.00
A&E	General Contractors			20.70	6,210.00
ENG	INEER'S ESTIMATE			20.70	6,210.00
63507-0800	DAY	TEMPORARY TRAFI	FIC CONTROL, PORTA	ABLE CHANGEABLE M	ESSAGE
Panha	andle Grading & Pavir	ng, Inc.	30	25.00	750.00
	C Mid-South, Inc.			22.00	660.00
A&E	General Contractors			125.00	3,750.00
ENG	INEER'S ESTIMATE			250.00	7,500.00
63701-0000	EACH	FIELD OFFICE			
Panha	andle Grading & Pavir	ng, Inc.	1	10,000.00	10,000.00
APA	C Mid-South, Inc.			5,000.00	5,000.00
A&E	General Contractors			10,000.00	10,000.00
ENC	INEER'S ESTIMATE			4,000.00	4,000.00

Date: 08/23/20

Bid Schedule B

Project No.: PRA GUIS 12(1) (SCHEDULE B)

Project Name: GULF ISLANDS NATIONAL SEASHORE - SITE 3

BID ITEM CHECK PASS

Bidder	Item No.	Bidder's Extension	Computed Extension
		Extension	Extension

No extension errors in this Schedule.

Bid Schedule B

Project No.: PRA GUIS 12(1) (SCHEDULE B)

Project Name: GULF ISLANDS NATIONAL SEASHORE - SITE 3

BID TOTAL CHECK PASS

Date: 08/23/20

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Panhandle Grading & Paving, Inc.	269,973.00	269,973.00	
APAC Mid-South, Inc.	320,602.95	320,602.95	
A&E General Contractors	363,988.00	363,988.00	

The apparent low bidder is 10 % below the engineer's estimate.

Bid Schedule C

Project No.: PRA GUIS 12(1) (SCHEDULE C)

Project Name: GULF ISLANDS NATIONAL SEASHORE - CULVERT REPAIRS

State: FL Opened at: Sterling, VA
County: ESCAMBIA By: Jason Albright

GULF ISLANDS NATIONAL SEASHORE Date: 08/18/2010

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Jason Albright

Title: Program Assistant Date: 08/19/2010

Contract Awarded to: Panhandle Grading & Paving, Inc. Date: 9/16/10

Contractor	Bid Amount	Responsive
APAC Mid-South, Inc. 4375 McCoy Drive Pensacola, FL 32503	115,523.00	
Panhandle Grading & Paving, Inc. 2665 Solo Dos Familiaf Pensacola, FL 32534	137,572.60	
A&E General Contractors 1415 Moody Street Jacksonville, FL 32206	138,930.00	
Engineer's Estimate	100,000.00	

Date: 08/23/20

TABULATION OF BIDS

Bid Schedule C

Project No.: PRA GUIS 12(1) (SCHEDULE C)

Project Name: GULF ISLANDS NATIONAL SEASHORE - CULVERT REPAIRS

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
APAC	C Mid-South, Inc.		ALL	21,000.00	21,000.00
Panha	andle Grading & Pav	ring, Inc.		12,506.60	12,506.60
A&E	General Contractors	3		30,000.00	30,000.00
ENGI	NEER'S ESTIMAT	E		16,970.20	16,970.20
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
APAC	Mid-South, Inc.		ALL	2,400.00	2,400.00
Panha	andle Grading & Pav	ring, Inc.		7,560.00	7,560.00
A&E	General Contractors	3		3,000.00	3,000.00
ENGI	NEER'S ESTIMAT	E		2,349.90	2,349.90
15401-0000	LPSM	CONTRACTOR TESTI	NG		
APAC	C Mid-South, Inc.		ALL	3,180.00	3,180.00
Panha	andle Grading & Pav	ring, Inc.		7,500.00	7,500.00
A&E	General Contractors	3		3,000.00	3,000.00
ENGI	NEER'S ESTIMAT	E		2,349.90	2,349.90
15705-1800	LNFT	SOIL EROSION CONT	ROL, TEMPORARY D	IVERSION BERM	
APAC	C Mid-South, Inc.		190	205.00	38,950.00
Panha	andle Grading & Pav	ring, Inc.		115.00	21,850.00
A&E	General Contractors	3		5.00	950.00
ENGI	NEER'S ESTIMAT	Е		50.00	9,500.00
20301-1200	EACH	REMOVAL OF HEAD	WALL		
APAC	C Mid-South, Inc.		1	715.00	715.00
Panha	andle Grading & Pav	ring, Inc.		1,250.00	1,250.00
A&E	General Contractors	3		5,000.00	5,000.00
ENGI	NEER'S ESTIMAT	Е		1,000.00	1,000.00
20302-2100	LNFT	REMOVAL OF PIPE C	ULVERT		
APAC	C Mid-South, Inc.		150	13.50	2,025.00
Panha	andle Grading & Pav	ving, Inc.		18.65	2,797.50
A&E	General Contractors	3		13.00	1,950.00
ENGI	NEER'S ESTIMAT	Е		25.00	3,750.00
20303-1600	SQYD	REMOVAL OF PAVEN	MENT, ASPHALT		
APAC	C Mid-South, Inc.		120	11.00	1,320.00
Panha	andle Grading & Pav	ring, Inc.		8.70	1,044.00
A&E	General Contractors	3		6.00	720.00
ENGI	NEER'S ESTIMAT	E		15.00	1,800.00

Date: 08/23/20

TABULATION OF BIDS

Bid Schedule C

Project No.: PRA GUIS 12(1) (SCHEDULE C)

Project Name: GULF ISLANDS NATIONAL SEASHORE - CULVERT REPAIRS

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
20401-000	0 CUYD	ROADWAY EXCAVAT	TON		
A	PAC Mid-South, Inc.		50	26.00	1,300.00
Pa	anhandle Grading & Pavin	g, Inc.		7.80	390.00
A	&E General Contractors			30.00	1,500.00
E	NGINEER'S ESTIMATE			35.00	1,750.00
20701-110	0 SQYD	EARTHWORK GEOTE	XTILE, TYPE III-B		
A	PAC Mid-South, Inc.		120	6.15	738.00
Pa	anhandle Grading & Pavin	g, Inc.		5.25	630.00
A	&E General Contractors			6.00	720.00
E	NGINEER'S ESTIMATE			6.00	720.00
25101-300	0 CUYD	PLACED RIPRAP, CLA	SS 3		
A	PAC Mid-South, Inc.		40	100.00	4,000.00
Pa	anhandle Grading & Pavin	g, Inc.		118.75	4,750.00
A	&E General Contractors			210.00	8,400.00
E	NGINEER'S ESTIMATE			75.00	3,000.00
30101-400	0 TON	AGGREGATE BASE GI	RADING C OR D		
A	PAC Mid-South, Inc.		40	60.00	2,400.00
Pa	anhandle Grading & Pavin	g, Inc.		85.00	3,400.00
A	&E General Contractors			25.00	1,000.00
E	NGINEER'S ESTIMATE			40.00	1,600.00
40101-010	0 TON	SUPERPAVE PAVEME AGGREGATE, <0.3 MII			
A	PAC Mid-South, Inc.		20	130.00	2,600.00
Pa	anhandle Grading & Pavin	g, Inc.		84.50	1,690.00
A	&E General Contractors			120.00	2,400.00
E	NGINEER'S ESTIMATE			90.00	1,800.00
40101-0900 TON		SUPERPAVE PAVEME AGGREGATE, <0.3 MII		AL MAXIMUM SIZE	
A	PAC Mid-South, Inc.		50	110.00	5,500.00
Pa	anhandle Grading & Pavin	g, Inc.		138.75	6,937.50
A	&E General Contractors			130.00	6,500.00
E	NGINEER'S ESTIMATE			90.00	4,500.00
60103-014	0 EACH	CONCRETE, HEADWA	LL FOR 24-INCH PIPI	E CULVERT	
A	PAC Mid-South, Inc.		5	1,885.00	9,425.00
	anhandle Grading & Pavin	g, Inc.		3,823.40	19,117.00
A	&E General Contractors			4,500.00	22,500.00
E	NGINEER'S ESTIMATE			2,100.00	10,500.00

TABULATION OF BIDS

Date: 08/23/20

Bid Schedule C

Project No.: PRA GUIS 12(1) (SCHEDULE C)

Project Name: GULF ISLANDS NATIONAL SEASHORE - CULVERT REPAIRS

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
60103-0620 EACH		CONCRETE, HEADWA	ALL FOR DOUBLE 24-	-INCH PIPE CULVERT	ı
APA	C Mid-South, Inc.		2	2,090.00	4,180.00
Panl	nandle Grading & Pavi	ng, Inc.		4,138.00	8,276.00
A&1	E General Contractors			7,000.00	14,000.00
ENC	GINEER'S ESTIMATE	;		3,000.00	6,000.00
60201-0800	LNFT	24-INCH PIPE CULVE	RT		
APA	C Mid-South, Inc.		160	53.00	8,480.00
Panl	nandle Grading & Pavi	ng, Inc.		129.15	20,664.00
A&1	E General Contractors			38.00	6,080.00
ENC	GINEER'S ESTIMATE			70.00	11,200.00
63506-0500	HOUR	TEMPORARY TRAFF	IC CONTROL, FLAGG	ER	
APA	C Mid-South, Inc.		300	20.70	6,210.00
Panl	nandle Grading & Pavi	ng, Inc.		20.70	6,210.00
A&1	E General Contractors			20.70	6,210.00
ENC	GINEER'S ESTIMATE			20.70	6,210.00
63507-0800	DAY	TEMPORARY TRAFF	IC CONTROL, PORTA	BLE CHANGEABLE M	IESSAGE
APA	C Mid-South, Inc.		40	22.00	880.00
Panhandle Grading & Paving, Inc.				25.00	1,000.00
	E General Contractors	6,		125.00	5,000.00
ENC	GINEER'S ESTIMATE			250.00	10,000.00
64501-0000	LPSM	LOCATE UTILITIES			
APA	C Mid-South, Inc.		ALL	220.00	220.00
Panhandle Grading & Paving, Inc.				10,000.00	10,000.00
A&E General Contractors				20,000.00	20,000.00
FNO	GINEER'S ESTIMATE			5,000.00	5,000.00

Bid Schedule C

Project No.: PRA GUIS 12(1) (SCHEDULE C)

Project Name: GULF ISLANDS NATIONAL SEASHORE - CULVERT REPAIRS

BID ITEM CHECK PASS

Date: 08/23/20

No extension errors in this Schedule.

Bid Schedule C

Project No.: PRA GUIS 12(1) (SCHEDULE C)

Project Name: GULF ISLANDS NATIONAL SEASHORE - CULVERT REPAIRS

BID TOTAL CHECK PASS

Date: 08/23/20

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
APAC Mid-South, Inc.	115,523.00	115,523.00	
Panhandle Grading & Paving, Inc.	137,572.60	137,572.60	
A&E General Contractors	138,930.00	138,930.00	

The apparent low bidder is 16 % above the engineer's estimate.